HROOF I I ARREERRE

HHISE (2023%)2H15H

ANDOMEBRERIZDONT

1 BRARR (BATZROEREBEONOHEHBEH
BB ETOMREAE 2 A6 BHEE M E(A) =) &
309,133 173 309,306
2 SARRER., BEAEFICEIIERMB(A—T T —28HHE)
BB ETOMHEREH 2A 6B DML (B) a &
313,791 139 313,930
= s E IT<5Y /.
O #HAE AT VAL AREEMRMEAXISIKIR (2A6H)
AR (AR 5 fEATS
- REM-2BENES— o] e | & | B
e | we | wn | ma | o | =] k| ke | As ] x= i g
1 ER 92 10 1 12 3 0 6 9 0 1 10| 144 47 38 85 229
2 BXEE 3 0 0 0 0 0 1 0 0 0 3 7 0 0 0 7
(3 EAHE 1 0 0 0 0 0 1 0 0 0 6 8 0 0 0 8
E’ﬁ
= 4 TETH 0 0 1 0 0 0 0 0 0 0 4 5 0 0 0 5
5 Z0ith 9 0 0 0 0 0 0 0 0 0 0 9 0 0 0 9
it 105 10 2 12 3 0 8 9 0 1 23 A 173 47 38 85 258
T ALhOBRRERERT 55 HT a
BHHEEK. R - EME - COCOABRMFIC 53 2 0 9 1 0 6 5 0 1 0 77 29 33 62 139
+q |BIT B185
EI.;Z 2 1L B BRE 52 8 2 3 2 0 2 4 0 0 23 96 18 5 23 119
';5\.
it 105 10 2 12 3 0 8 9 0 1 23| 173 47 38 85 258




